Table 30e: XXXe:
Sub-Matrix 2, when +4 and A +7, Gives the PREVIOUS c-value in the 20-21-29 PPT Series.

X=c 29 Gives
ke (xn-1)/4 A A7 PREVIO 29

us
X 29 7 29
x2 841 210 203 29 / 841
x3 24389 6097 5887 841 / 24389
x4 707281 176820 170723 24389 / 707281
x5 20511149 5127787 4950967 707281 / 20511149
x6 594823321 148705830 143578043 20511149 / 594823321
x7 17249876309 4312469077 4163763247 594823321 / 17249876309
x8 500246412961 125061603240 120749134163 17249876309 / 500246412961
x9 14507145975869 3626786493967 3501724890727 500246412961 / 14507145975869
x10 420707233300201 105176808325050 101550021831083 14507145975869 / 420707233300201
x11 | 12200509765705829  3050127441426457 2944950633101407 420707233300201 /
x12
x13

Table XXXe. Sub-Matrix 2, when +4 and A +7, Gives the PREVIOUS c-value in the 20-21-29
PPT Series.

When one subtracts 1 from the exponential values of ¢ (the c-value of the PPT) you get the Sub-
Matrix 2 value. Divide that by 4 and take the Difference (A) between it and the next. Divide that by 7
to give the PREVIOUS PPT c-value in the series.

The variable divisor 7=Sub-Matrix 2 value/4 = 28/4.
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